10,000

4,000

6,000

1,000

3.0%

2.0%

5.0%

X1 X2 X3 X4 X5
3 31 3 31 3 31 3 31 3 31
1,000 1,000 1,000 7,000
200 200 200 180 160
1.03 (1.03) (1.03) (1.03) (1.03) (1.03)

X2

X1 X2 X3 X4 X5
1,000 1,000 1,000 7,000
200 200 200 180 160
6,650
200 200 1,200 1,180 1,160 6,650 | (a)
95% 90% 85% 80% 75% 70% ®)
190 180 1,020 944 870 4,655
(©)=(a)*(b)
300 300 300 250 200 150
4,000 4,000 4,000 4,000 4,000 4,000
4,300 4,300 4,300 4,250 4,200 4150 | )
5% 5% 5% 5% 5% 5% ()
215 215 215 213 210 208
(=(d)*(e)
405 395 1,235 1,157 1,080 4863 | (@) (C)+H
1.03 (1.03) (1.03) (1.03) (1.03) (1.03)f (h)
393 372 1,130 1,028 932 4,194 | ()=(0)/(h)
8,049
I [eose]o
I - o

I -




